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2. The root pressure which develops inside the xylem of roots
provides the initial push to the water molecules and holds the
water column up. ' :

3. Light causes stomata to open which in turn increases the rate
of transpiration. :

4. The cell membrane of root hairs acts as a semipermeable

# membrane through which water molecules from soil enter the

¢ cell sap. Thus, absorption of water occurs by 0SMOosis.
J. 1. (¢) 2. (d) 3. (d) 4. (d) 5. (d) 6. (¢
K. 1. (a) Transpiration
(b) So that water lost by transpiration is collected in the form
of water drops.
(¢c) Transpiration will be at a very slow speed, so water drops
will not be visible.

9. Water level in test tube A fell down because water is lost by
transpiration from the leaves of plant. In test tube B, no water
is lost because there is no plant in it, and hence, the water level
remains the same. =

i+, 3.(a) Diffusion. It is the movement of molecules of a substance

Dy 3T fr(bg(bhe region of their higher concentration to the region
. of lower concentration without using energy.

(b) Larger molecules shown by red colour are solute molecules

and smaller molecules of blue colour are solvent molecules.

2 (c) There will be free movement of solvent as well as solute
molecules through the permeable membrane.

THINK ZONE
® We feel cool on standing under a tree because tree releases excess
of water as water vapour into the atmosphere through stomata
by the process of transpiration.
@ Plants need mineral elements for their proper growth. As barren
land lacks essential mineral elements, plants do not grow well
in it.

Check Point 1

1. two 2. clones 3. fragmentation 4. unfavourable
Check Point 2

1. Tuber 2. Bulb 3. Leaf 4. Explant
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Check Point 1
1. True 2. False 3. True 4. False 5. True

Check Point 2 3
1. sun 2. secondary 3. food chairi_ 4. interconnected; food web
5. pyramids

Check Point 3
1. lichen 2. endo 3. sun 4. Humidity 5. canopy

TEST YOURSELF

A. 1. abiotic 2. green; photosynthetic bacteria 3. decomposers
4., recycling 5. secondary

B. 1. Symbiosis 2. Food chain 3. Transformers 4. Food chain
5. Ecosystem 6. Food chain 7. Pyramid of number

C. 1. Parasitism is a negative interaction between organisms of two
species in which one organism (usually smaller) lives on or within
the body of another organism(larger one) and obtains food and
shelter from it. The snfaller’orgafiism is alway$ benefitteddnid is § |
called parasite, whereas the larger one which is always harmed
or gets no benefit is calledhhost". - S T

2. Primary consumers are the animals which feed.upon plants or

plant products. They are called herbivores.

3. Scavengers are the animals which feed upon dead animals and

left over food by the carnivores. '

4. An ecosystem is a community of living organisms in a given
area or in a habitat, interacting with each other and with their
nonliving environment (weather, sun, water, soil, climate and
atmosphere). ' : '

Grass — Insects — Frog — Snake — Eagle

Grains — Rat — Owl

Grass — Goat — Lion

e
S B -

2

An ecosystem is a community of living organisms in a given
area or in a habitat, interacting with each other and with their
nonliving environment. It is an open system which requires
continuous input of energy and circulation of material for the
sustenance between its biotic and abiotic components.

2. The primary source of energy in the ecosystem is the sun.
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Subject-Computer

For Std V to VI

Kindly read the chapters according to the syllabus and solve exercise and do th 3
revision. :
You can download the mobile app from Google App store that provides the sol
excercises.

To download the App type IT Planet W and then Class Eg. IT Planet W class V
The chapters will be explained in the class later.
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grecref Word Meaning

et - g (son) HARY - A9 $ 3200 (heart's desire)
qEIoT - UK (stone) wioga - HrET g3 (imagined)
N - 9= (restless) AMHS - TR, 92 (troubled)

IS # S1T¢ HETaR (Idioms from the lesson)
&1 earEr - | (to beg)
HRITSTHAT - Hog 34+ 8T (to be suspicious)

qToT &= T - d¥gd SX G (to be frightened)

31T 9¥ AT - 3G 31 ST (eyes filled with tears)
g ST - 3Tfers f=ifad 897 (to be more anxious)
WS EAT - TGy & ST (to be alert)
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¢ Sgfawada us (MCQs)

W& IR ATt fAweq uv v EU— (Tick (v) the correct answer. )

1L NE oS & e H B e

M wm () wew () Gy w5 v Rew [
2. UF & e e—

@ dm (@ o ()@ w & wm =
3. gegdeAlr YErdR & 3Ri -

(i) SR ) (i) gERru=d )

(i) gEowerEET () iv) sfeRifmam

Jolcdich arfataferRit

Creative Activities

o TR anus frd wETS & wre S T B gerd @i B forg 4 7 € & o swH
WERIET {5 yeR ) ? arafds aRRufEat 6 sea-r S siw s faam aarg)

(How will you help your friend who has no money to buy books. Express your views
aboutit.)

# wﬁm%ﬁﬁlﬁﬁﬁm&ig@ﬁ,mmaﬁvqumﬁmﬁ‘
fafRawi

(Fever is of many types. Write a note on different types of fever, it's cause and it's
prevention.)
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Check Point 1
1. (a) identical (b) increases (c) vibrational (d) gaseous

Check Point 2
1. (a) melting (b) condensation (c) O

2. (a) During condensation process, a substance releases that much
heat as the same substance absorbs during boiling process.

(b) The boiling point of water at atmospheric pressure is 100°C.

Check Point 3
1. (a) solid; gaseous (b) opposite (c) deposition
2. (a) False (b) True (c) True (d) False

Check Point 4
1. (a) Rate of evaporation (b) cooling
2. (a) Alcohol is more volatile than water.

(b) The water present in clothes evaporates faster in sunlight
due to increase in temperature. So, clothes dry up quicker
in sunlight than in shade.

EST RSELF

A. 1. mass 2. space 3. cohesive; adhesive 4. gas 5. solid
6. freezing point 7. camphor 8. evaporation
B. 1. Intermolecular force 2. Latent heat 3. Sublimation
4. Condensation 5. Meltmgr.ﬁ Evaporation 7. Desubhmates/Suuw
C. 1. Force of adhesion: The intermolecular force of attraction
amongst molecules of two different substances is called the force
of adhesion.

2. Change of state: The process of the change of a substance
from one physical state to another physical state by changing
its temperature is called change of state.

3. Freezing point: The fixed temperature at which a substance
changes from liquid state to solid state at standard atmospheric
pressure is called its freezing point.

4. Boiling: The process by which a substance changes from liquid state
to gaseous state on heating at a fixed temperature is called boiling.
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5. Deposition: The process by which a substance in its gaseous

(vapour) form, on cooling, directly changes into solid state without
passing through the intermediate liquid state is called deposition.

6. Evaporation: The phenomenon of transition of a liquid into its

vapnmﬁormatnlltampemmmbglwmsboﬂmgpomxmnned

evaporation.

The process by whieh a substance
in solid state on heating changes
into liguid state at a fixed
temperature is called melting.

The process by which a substance
in vapour state on cooling
changes into liquid state at
a fixed temperature is called
liquefaction.

1. The molecules in solids
are closely packed, ie., the
intermolecular apaces are
extremely small.

1. The molecules in liquids are
solids, ie., intermolecular
spaces are more than solids.

2. The intermolecular forces
are very strong.

2. The intermolecular forces
are weaker than solids.

The fixed temperature at which
a substance in solid state
changes into a liquid at standard
‘atmospheric pressure is called
its melting point.

‘substance in solid state changes

The fixed temperature at which a

into gaseous state directly
without passing through the
intermediate liquid state is
called sublimation point.

1. The midlecules'in B4uidshre
less tightly packed than solid,

loosely packed.

2. Liquids have definite volume
“and indefinite shape of their
own and they can flow.

2. Gases have neither a definite
‘shape nor a definite volume.

1. The process by which a
substance in solid state
changes into liquid state on
heating at fixed temperature
iz called fusion.

1. The process by which a
substance in vapour state
changes into liquid state on

cooling at fixed temperature

2. The fusion or melting point

of ice is 0°C.

2. Steam condenses into water
at 100°C,
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1. Thephenomenon of transition
of a liguid into its vapour
form at all tdnnperatms
below its boiling point is
called evaporation, ;

2. Evaporation isa slow process. | 2. Boiling is a rapid process.

E.1. 'I'hethreemmnpomtsofkmehctheoryafmttarmasfo]lowa

() Every matter is made up of tiny particles called molecules.
(b) Molecules of a substance are identical in shape, size and
mass, However, molecules of different substances may have
different masses, shapes, sizes and compositions.
(¢) Molecules are continuously in a state of random motion.
Motion of molecules is different in different states of matter,
2. Solids < Liquids < Gases
3. Gases < Liquids < Solids
4. ’fhe freezing point ofwaternﬂ“f}andbnihng point of water is
8. Thechmgeofaanbstame&mnmyhymmlatntetoam
physical state by changing its temperature is called change of

state. The complete cyele of change of state of a substance i is as.
follows:

1. The process by which a
suhatanca in

Schematic dlagramshawingchamaafsmesafmmaf
6. The three important characteristic properties of a solid on the
basis of molecular model of atom are as follows:
(a) The molecules in a solid are r.'ioaely packed, i.e., the
intermolecular spaces are extremely small,
(b) The mhemolemﬂarfbrmbetweau molemlagofa solid are
verystxmlg ame-hre










2. (a) An instrument used to measure the purity of milk by
measuring its density is called lactometer.

(b) Hydrometer is used to check the density of acid solution.
TEST YOURSELF
A. 1. more 2. liquid 3. floats;less 4. floats 5.more 6. Lactometer
7. decreases 8. sinks; floats
B. 1. Density 2. Relative density 3. Principle of floatation
4. Hydrometer

C. 2
1. The mass of an object|1. The ratio of the density of
contained per unit volume is the substance to the density
called density of the material of pure water at 4°C is called
of that object. the relative density of the
given substance.
2. The SI unit of density is 2. It has no units.
kgim®, : i
2.
A state of rest or movement of | A state of rest or movement of a
a lighter object on the surface of | heavier object below the surface
heavier object is called floating. | of a lighter ob]ect (liquid) is

D. 1. The mass of an object contained per unit volume is called density
of a material of an object. The SI unit of density is kg/m?,
L Mdmtynefs,nubstwdoeamtdemndmmahapeand
size. Yes, the density of the substance depends on the material
ofthesuhstme.

Procedune: Take a
small piece of stone
and find its mass by
using a beam balance.
Let it be M. Take a
clean measuring
cylinder and fill it
nearly half with water,

74

‘When water level is steady, note down the reading of water level.
Let it be V). Tie a thread around the stone and gently immerse
it into water. The stone piece must be fully immersed into water
but should not touch the walls or the base of the measuring
eylinder. The water level in the measuring cylinder rises. Note
down the reading of water level again. Let it be Vs.

Volume of the stone, V= Volume of displaced water

=¥ ¥y
; . M- M
Density of the stone, D= V%oV,

~Paeedese: Take a small
piece of cork and find its mass
by using a beam balance. Let
it be M. Take a measuring
cylinder and fill it nearly
half with water. Note down
the reading of the water
level. Let it be V;. Now, take
a heavy sinker (say, a stone
piece) and tie a fine thread to
it. Gently, immerse it into water and record tha new water level.
Let it be V,. Now, gently remove the stone from water. Tie the
cork piece along with stone. Gently, immerse them into water
so that both sink into water. Again, record the water level, Let
it be Vs.
Then, volume of the cork, V=Vs -V,

: _M_ M
Density of the cork, D= v - ViV,

PS5 57 o TR
hsdenee,

“Broesdure: Take an empty and dry density bottle of known
capacity (V). Weigh it accurately along with the stopper using a
sensitive beam balance. Let its mass be M;. Now, fill the bottle
with given liquid (say, oil or glycerine) up to-the brim and insert
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1 glem? =1000 kg/m?
0.391 g/em® =1000 x 0.391 kg/m?
=391 kg/m®
L 1.b) 2.(a) 3.(b) 4.(b) 5.(d) 6.(d) 7. (a)

J. 1. Iron; The density of iron is more than water and density of

others is less than water.
- 2. Iceberg; Iceberg floats on water and others sink in water.

(Or Density of iceberg is less than water and density of others
is more than water).

THINK ZONE |
® Density of water in dead sea is more than that of the body of a
- person. So, a person cannot sink in dead sea even if he so desires.

® The value of relative density of a substance is independent of
the unit system because it is a ratio of two densities.

Check Point 1
1. (a) turning effect
(b) newton metre
2. (a) The two effects of a force are as follows:
(i) A force may bring a moving object at rest or vice versa.
(i) A force may change the shape and size of an object.
(b) Moment of a force is also called turning effect of a force.

Check Point 2 :
1. (a) 1 (b) sharp; blunt (c) camel
2. (a) For a given thrust, the pressure is inversely proportional to

the surface area of the object, i.e., pressure increases when
area of contact is decreased. R

(b) The SI unit of pressure is N/m? or pascal.

Check Point 3
1. (a) liquid
(b) increases
(c) does not depend
2. (a) Aim: To show that a liquid exerts pressure
Materials Required: A glass tube, a thin stretched rubber
membrane and water
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